#HHx [(ME JLEAT4SE]

No.1
izd L & & B | BHE | EEHE w5 &
BlKEMXT |HPPE(EFZOMHZHEE) L=500m ¢ 50 y.N 9
HPPE(E%) L=5.00m ¢ 50 p: 4
HIVP  L=4.00m ® 50 X 1 BRI
VST afk ¢ 50 & 1
A HEEGR E ) ¢ 50 x 45° & 2
AHBMEGEEER) ¢ 50 x 45° & 1
ERERANTBEPXV) ¢ 50 x 45° & 1
BERERANETEE b 50(P) x ¢ 40(V)| {E& 1
SKXS LKAV v 127 (KYER) ¢ 50 1& 1 XREFMLUE
MC1=7H> $50 & 1
BRI —bk W=150S m 63
HYFHEL 050 | FIRHLTIF ®50 £ 2
BhlHvrycGRYER) A7+ ¢ 50 1 [E5 4 XEFMmLUE
toH=E H=600 #H 2
kBT HRILIF 5K GRUER) »50x @20 & 5
ISRTafk ®20 & 5
Hiv/ryk $20 & 5
" ¢$20% $13 & 5
HiT/LAR 20 & 10
HIVP  L=4.0m $20 7. 5 20m 7 E%(4.0m x 54F)
BRI —b W=150S m 175 17.5m#E%(3.5m X 544)




HFHEXR [hiE JLEET45K]

No.1

izd L & & B | BHE | EEHE w5 &
EKEMBTLT |RUTFLUERET 50 m 615
RUIFLUERF T (REES) ®50 1O0#F | O 9
RUTFLUEYT ¢ 50 a 4
A= AIHBFTGRIYER) $50 A 7
AN=HIHFETGEEER) ¢ 50 m| 5
EZILEMET ®50 m 15
MERLCAAT ®50 i 1
RUIFLUEHRFT ®50 a 1
HHHR—F m 63

EKEHER T HIKEFRE S| 0.03 63m/2,000H=0.031H
HFREL G50 ({TUIFHRET 50 = 2
MERQLAAT ®50 O 4.0
RUIFLUEHRFT ¢ 50 a 4.0
AERET H=600 #H 2
BHERE 3¢ 2
kBT HYRILDKRFRETI GRUER) $50%20 & 5
MERQLAAT $20 A 5
E=Z—ILEHZT 20 m 20
TSH#FT @20 i 35
" $13 a 5
R —k m 175




T I # = No.1
£ o HO® # 8 5t = RETHE
Wl dERT4SE 50
Bo/KEMRT |[HMMERET H=600 #rE®. @ 060 m X 0723 m 630 m 27.33 m3 30
HMWERELT S5 BrE®. @ 060 m X 0.263 m 630 m = 9.94 m3 10
BALEIR) = 9.94 m3 10
HMEERLT x4+ | HED.Q 060 m X 0290 m 630 m = 1096 m3 10
HLuET E R E & km) = 1515 m3 20
BEREETOSH = 1515 m3 20
NEE: R TON®) t=10cm RC-30 060 m X 630 m = 37.80 m2 38
TERET(HED) t=8cm M-30 060 m X 55 m = 330 m2 3
EEERTWED. @) t=7cm M-30 060 m X 630 m = 37.80 m2 38
RAsEHZET t=3cm FHHIL 060 m X 55 m = 330 m2 3
AIEIBASSHET (AAEL) t=4cm BHI 080 m X 55 m = 440 m2 4
AsTRZERRYIBTT t=4cm 55 m X 4 % = 2200 m 22
AsTREE MG T t=4cm 080 m X 55 m = 440 m2 4
RAsERZE IR T t=3cm 060 m X 55 m = 330 m2 3
AsTREFHER -0 T E 4 & (km) = 028 m3 0.3
HBKEHRSRT |HHEEKEL H=600 060 m X 0.686 m 175 m = 720 m3 7
HWIERLT TSR 060 m X 0226 m 175 m = 237 m3 2
HWIERLT £t 060 m X 0290 m 175 m = 305 m3 3
BT = 382 m3 4
TRERET t=10cm RC-30 060 m X 60 m 175 = 360 m2 4
LRERAEET t=8cm M-30 060 m X 60 m 175 = 360 m2 4
RAsEHZET t=3cm FHAIL m X m = 000 m2
AREIBAsTHET (ANFETL) t=4cm R m X m = 000 m2
AsTHIERRYIMT T t=4cm m X % = 000 m
AsEHEERRBERE T t=4cm m X m = 000 m?2
{RASEHIEARFR IR T t=3cm m X m = 000 m?2
AsTHETRERR - 07 T E 4 & (km) = 000 m3




$50 HPPE fd /K & 4] & % BeiRn -t ICIRAT 4 549

PIEE (m) DI NN
w R x| D ERE B B (m) tl) i e
Z JQJ =1 =
5]
H-1 Z-1 7.2 Z.-3 Z,-4 D-3 ()
1
R
HPPE
ER= 50
z B %
it
-1 Z.-2 Z-3 z.-1 Z-5 HEhE| 5.000
HPPE 50 5. 000 5. 000 5. 000
HPPE 50 5. 000 4. 000 1.000 5. 000 1
HPPE 50 5. 000 4. 000 0. 500 0. 500 5. 000 2 | BEE T
HPPE 50 5. 000 2.000 3. 000 5. 000 1 [{hERETe
#t 20. 000 15. 000 4.500 0.500 20. 000 4

20. 000 15. 000 4. 500 0.500 20. 000 4



650 HiVP B2 Kk & U & * A o miE dCiERATAR

WEE (m) DIAT
i 7 - - Fhs LI T
BE | %R |0 ERE B AR (m) Ik W
Z JQJ =1 =
5]
Z-1 7.2 Z.-3 Z.—4 Z,-5 D—3 ()
Hivp 50 4. 000 1. 000 0.500 2. 000 0. 500 4. 000 iy 1
R
B
HiVP
ER= 50
HhE| 4.000
2 4. 000 1. 000 0. 500 2. 000 0. 500 4. 000

4. 000 1. 000 0.500 2. 000 0. 500 4. 000



#HHEx [(ME JLEATSSE]

No.2
izd L & & B | BHE | EEHE w5 &
FRKEHRJZT [HIVP  L=4.00m ¢ 40 x 10
Hiv 4k 40 & 7
Hiv/ryk 40 & 7
BRI —bk W=150S m 395
TUIFBRET o440 | FRELUIF ® 40 H® 2
Vvt (BEER) 40 & 4 XRIFHUL
toH= H=600 ## 2
twkosgT HRILIH5 ke GEEER) $40x @20 1& 5
ISRTaAvk 20 & 5
HivV 4k 20 & 5
" $20x 13 L[Ed 5
HiTJLAR 20 & 10
HIVP  L=4.0m 20 y.N 2 6m A E%(1.0m X 344, 1.5m x 244)
BRI —b W=150S m 35 3.5m7AER(0.5m x 34, 1.0m x 244)




FHEXR [hiE JLEESSHK]

No.2
izd L & & B | BHE | EEHE w5 &

EIKEMBRLT |[EZILEREZRT 40 m 385
Ah=HIBFICGEEER) ¢ 40 m| 2
TSHFET 40 a 14
BRI —F m 385

BKEERT HWIKEFRE S| 0.02 38.5m/2,000H=0.019H
HEIFRET 940 [EUIFRET ®40 oS 2
MERLCAAT 40 a 4.0
RUIFLUEHRFT 40 O 40
FEFET H=600 ## 2
HBERE 3¢ 2
fwKOET YRILHDKRFRET BEEM) $40x ¢20 & 5
MERLAAT $20 a 5
E-—ILEHMHRT ®20 m 11
TSH#FET $20 a 35
" $13 a 5
R —k m 8.5




T I # = No.2
£ o b3 # 8 5t = RETHE

i@ JtEETS S ¢ 40
Bo/KEMRT |[HMMERET H=600 #rEo. @ 060 m X 0708 m 385 m 16.35 m3 20
HEERLT S5 BEQ. @ 060 m X 0.248 m 385 m = 573 m3 10
BALEIR) = 573 m3 10
HHWERELT x4E+ | HER.D 060 m X 0290 m 385 m = 6.70 m3 10
HLuET E R E & km) = 891 m3 10
BEREETOSH = 891 m3 10
TREBRET(EHmEm. @) t=10cm RC-30 060 m X 385 m = 2310 m2 23
TERBET(ME®) t=8cm M-30 060 m X 345 m = 20.70 m2 21
IEERTMWES. @) t=7cm M-30 060 m X 385 m = 2310 m2 23
RAsEHZET t=3cm FHAIL 060 m X 345 m = 20.70 m2 21
AIEIBASSHET (AAEL) t=4cm BHI 080 m X 345 m = 2760 m2 28
AsTRZERRYIBTT t=4cm 345 m X 4 % = 13800 m 138
AsTREE MG T t=4cm 080 m X 345 m = 2760 m2 28
RAsERZE IR T t=3cm 060 m X 345 m = 2070 m2 21
AsTREFHER -0 T E 4 & (km) = 1.73 m3 2
HBKEHRSRT |HHEEKEL H=600 060 m X 0.686 m 35 m = 144 m3 2
HWIERLT TSR 060 m X 0226 m 35 m = 047 m3 1
HWIERLT £t 060 m X 0290 m 35 m = 061 m3 1
BT = 0.76 m3 1
TRERET t=10cm RC-30 060 m X 35 m = 210 m2 2
EERET t=8cm M-30 060 m X 35 m = 210 m2 2
RAsEHZET t=3cm FHAIL 060 m X 35 m = 210 m2 2
KIEIHASTHET (AAFET) t=4cm BH 080 m X 35 m = 280 m2 3
AsERZERRUIBR T t=4cm 350 m X 4 % = 1400 m 14
AsTREE kG T t=4cm 080 m X 35 m = 280 m2 3
R As T iR G T t=3cm 060 m X 35 m = 210 m2 2
AsTHETRERR - 07 T E 4 & (km) = 018 m3 0.2




»40 HiVP B2 Kk & U B x A mE ALEATSE R

WEE (m) DIATN
i 7 - - Fhs LI T
BE | %R |0 ERE B AR (m) Ik W
a8 o
5]
Z-1 7.2 Z.-3 Z.—4 Z,-5 D-3 ()
Hivp 40 4. 000 2. 500 2.500 1. 500 1
R
HiVP
ER= 40
HhE| 4.000
2 4. 000 2. 500 2.500 1. 500

4. 000 2. 500 2.5600 1. 500



HHE [ha R-EETR]

No.3
izd L & & B | BHE | EEHE w5 &
ElKEMHR T |HPPE(EFZOfTHRZEE) L=500m ® 50 X 10 fthERRELT
HPPE(E%) L=5.00m ¢ 50 p: 3
HIVP  L=4.00m ® 50 X 1 BRI
VSaqT bk ¢ 50 & 2
A HEEGR E ) ¢ 50 x 45° & 2
AHBMEGEEER) ¢ 50 x 45° & 1
ERERANTBEPXV) ¢ 50 x 45° & 1
BERERANETEE b 50(P) x ¢ 40(V)| {E& 1
BRIEETHANETEE ®50(P)x ¢50(V)| {E& 1
SKXS LKAV v 127 (KYER) ¢ 50 el 1 XEFMmLUE
MC=HAY ®50 1& 1
BRI —bk W=150S m 715
LI FH/ET 650 | FERELUIF ®50 = 2
Bl ryrRYER) A7+ ®50 & 4 XRIF&LUE
toH=E H=600 ## 2
kBT HRILIF 5K RUER) » 50 % ¢20 & 5
ISRTaAk 20 & 5
Hiv/ryk 20 & 5
" $20x $13 & 2
HiT/LAR 20 & 10
HIVP  L=4.0m $20 7. 2 6m A E%(1.0m X 344, 1.5m x 244)
BR—b W=150S m 35 3.5mAAER(0.5m x 34, 1.0m x 244)




HHR (ME BR-EETHR]

No.3

izd L & & B | BHE | EEHE w5 &
EKEMBTLT |RUTFLUERET 50 m 68.0
RUIFLUERF T (REES) ®50 1O0#F | O 10
RUTFLUEYT ¢ 50 a 3
A= AIHBFTGRIYER) $50 A 9
AN=HIHFETGEEER) ¢ 50 m| 8
EZILEMET ®50 m 35
MERLCAAT ®50 i 1
RUIFLUEHRFT ®50 a 1
BEHHR—b m 715

EKEHER T HIKEFRE S| 0.04 71.5m/2,000H =0.035H
HFREL G50 ({TUIFHRET 50 = 2
MERQLAAT ®50 O 4.0
RUIFLUEHRFT ¢ 50 a 4.0
AERET H=600 #H 2
BHERE 3¢ 2
kBT HYRILDKRFRETI GRUER) $50%20 & 5
MERQLAAT $20 A 5
E=Z—ILEHZT 20 m 11
TSH#FT @20 i 38
" $13 a 2
R —k m 8.5




T T & & X

No.3-1
£ o b3 # 8 5t = RETHE
mE ER-EETER $50
BOKEMRT |HWERIET H=600 WrED 060 m X 0723 m X 68.5 m 29.72 m3
WE® 060 m X 0593 m X 30 m = 107 m3
a&t = 30.79 m3 30
HmERELT S5 BrE®. ® 060 m X 0263 m X 715 m = 1128 m3 10
BALESR) = 1128 m3 10
HmIERLT st BrED 060 m X 0290 m X 685 m = 11.92 m3
BE® 060 m X 0230 m X 30 m = 041 m3
=51 = 1233 m3 10
LT E R E = km) = 17.08 m3 20
BERFELELTOSH = 1708 m3 20
TERBRIE®ED.®) t=10cm RC-30 060 m X 715 m = 4290 m?2 43
TEERBEI(MEO®) t=17cm RC-30 060 m X 30 m = 180 m2 2
L ERBET(EED) t=8cm M-30 060 m X 685 m = 4110 m2 41
L+ R T (ErmEQ) t=7cm M-30 060 m X 685 m = 4110 m2 41
fRAsEHZET t=3cm $HHI 060 m X 685 m = 4110 m2 4
KREIHASTHET (AAFET) t=4cm BH 080 m X 685 m = 5480 m2 55
AsTHZ RV T t=4cm 55 m X 4 % = 2200 m 22
AsTHZERRAEIE T t=4cm 080 m X 685 m = 5480 m2 55
R AsER iR B G T t=3cm 060 m X 685 m = 4110 m?2 4
AsTREFCER - 0H T E 4l (km) = 343 m3 3
A3 —Ovx T BERE t=6cm 080 m X 30 m = 240 m2 2
a9 —hI(ANDITER t=8cm = 024 m3 0.2
CoffiZ=hi i T t=8cm 300 m X 40 % = 120 m 12
CoffZEhin it T t=8cm 080 m X 30 m = 240 m2 2
CoffZE &l -0 T = 024 m3 0.2




T T & & X

No.3-2
£ o b3 # 8 5t = RETHE
mE ER-EETER
HKEMRT |MWERET H=600 060 m X 0.686 m 35 m = 144 m3 1
HEWIERLT TSR 060 m X 0226 m 35 m = 047 m3 1
HWIERLT FEL 060 m X 0290 m 35 m = 061 m3 1
KRiIWET = 0.76 m3 1
TRERET t=10cm RC-30 060 m X 35 m = 210 m2 2
LRERRAET t=8cm M-30 060 m X 35 m = 210 m2 2
{RAsEHZET t=3cm FHFIL 060 m X 35 m = 210 m2 2
KRIEIHAsTHET (AAFET) t=4cm =z 080 m X 35 m = 280 m2 3
AsERZERR UM T t=4cm 350 m X 4 % = 1400 m 14
AsEiZEhRBERE T t=4cm 080 m X 35 m = 2.80 m?2 3
1R As T iR Bl G T t=3cm 060 m X 35 m = 210 m2 2
AsTREER -0 T EHi E (km) = 0.18 m3 0.2




$50 HPPE fd /K & ] & K Wik - i AT
PIEE (m) DI NN
=] A =y s Fu— 3 ¥ !‘a? E*-FI
IS R E I &% (m) S e
Z JQJ =} =
5]
-1 Z-1 7.2 Z.-3 Z,-4 D—-3 (1)
1
R
HPPE
z. 8
it
Z-1 -2 -3 -4 -5 ER= 50
1 HPPE 50 5. 000 5. 000 5. 000
2 HPPE 50 5. 000 5. 000 5.000 FhE| 5.000
3 HPPE 50 5. 000 2. 000 1.500 1. 000 4. 500 0. 500 3
#t 15. 000 12. 000 1.500 1. 000 14. 500 0. 500 3
15. 000 12. 000 1.500 1. 000 14. 500 0. 500 3




$50 HiVP fd K B ¥ & % B R - RETHR
WEE (m) DIAT
B B &R |0 ERE B | A ST oz
Z-1 7.2 Z.-3 Z.—4 Z,-5 D—3 (1)
Hivp 50 4. 000 1. 000 1. 000 3. 000 1
R
HiVP
ER= 50
HhE| 4.000
2 4. 000 1. 000 1. 000 3. 000
4. 000 1. 000 1. 000 3. 000




